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Algebra 1 ECA Remediation
Homework 33.1
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Solve each equation with the quadratic formula.

1) 4n° —8n-22=0 L +asze-=

5) (x* +3x% +2x) + 94°

2
__>S.._ + é_&q—*— i’g
D a9xs X2

= _L ..;--L—-F,Q-_
3x  ax*

Factor the common factor out of each expression.

7} 4a® - 244* +244°

4g3(@>(a +Q
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Name 421@ wrer &u

2) 36 —12b-63=0

J

4 + 752 = 960

6) (20v° + 12v* + 4v%) + 4y

2ov® avi gy
v 1 Yy

= §V4+5V3 V=

8) —9n° +90n* — 72n

—aa(nd-ion®+9)



Answers to Homework 33.1

B {2+ 26 2—‘\/26} 2) {7,-3} 3) {8,-12}
2 72
_ 20 11— +/ 1 1 * 4393 402
2 11+ 89, 11 89 5)_+_.+L2 6) 5v*+3v3 +v
16 16 9 3x 9x
7) 4a°(a® — 6a +6) 8) 9n(~n* + 10n° — 8)
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